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GCSE METHODS IN MATHEMATICS UNIT 1 HIGHER 4363-02

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 323 5 1.2 6 82.7 100

2 321 2.4 0.8 3 80.6 99.4

3 320 2.7 1.2 4 67.3 99.1

4 321 4.5 2.3 7 64.1 99.4

5 316 2.6 0.8 3 85.4 97.8

6 323 2.9 1.3 4 72.4 100

7 321 3.6 1.8 5 71.5 99.4

8 295 1.4 2 5 27.1 91.3

9 317 1.6 1.4 7 23.1 98.1

10 288 1 1.1 3 33.7 89.2

11 320 4.5 1.8 6 74.8 99.1

12 310 2 1.9 5 40.8 96

13 296 2.2 2.1 5 44.7 91.6

14 321 2.1 1.1 3 71.7 99.4

15 305 1 1.2 4 25.1 94.4

16 313 1.8 1.6 5 36.9 96.9

17 321 2.1 2 9 23.3 99.4

18 319 0.6 1.2 5 11.5 98.8

19 311 1.9 1.6 5 38.8 96.3

20 267 0.7 1.4 6 11.3 82.7
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	GCSE METHODS IN MATHEMATICS UNIT 1 HIGHER 4363-02
	Item Level Data
	Facility factor graph
	Question 7
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 8
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 13
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked












































Sticky Note

240 is divided into 3 equal parts.
An incorrect strategy, they are not 3 equal parts.



Sticky Note

Little understanding of the problem.
The candidate incorrectly decides to attempt to divide 308 by each of the parts of the ratio individually, 
instead of as a whole — which would be correct.












Sticky Note

A correct solution.



Sticky Note

This candidate decides initially to find an 1/8 of 240cm.
Then considering 1/4 as equivalent to 2/8.
Good understanding of equivalent fractions.



Sticky Note

It is nice to see the check at the end of all the calculations.
This candidate is satisfied they have answered this question correctly.












Sticky Note

The candidate decides firstly to find a 1/4 of the length.



Sticky Note

Then halves this to find 1/8 of the length.



Sticky Note

And then uses subtraction to find the remaining piece.



Sticky Note

The method shows understanding of fractional parts.



Sticky Note

Good understanding of ratio, division by 11.



Sticky Note

The candidate finds 4 parts as double 2 parts.
Then finds 5 parts as 4 parts + 1 part.
Uses good calculation methods.












7.	 (a)	 A length of wire measuring 240 cm is to be cut into 3 pieces as shown in the diagram.


Wire length
240 cm


5
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1
8Cut1


4Cut


		  Calculate the length of each of the 3 pieces of wire.	 [2]


	


	


	


	


	


	


	


	 (b)	 A different piece of wire of length 308 cm is cut in the ratio 2 : 4 : 5.
		  Calculate the length of each of the 3 pieces of wire.	 [3]
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  8. (Exterior angle is)       180° – 160° (= 20°) 


       (Number of sides )     360° ÷ (180° – 160°) 


                                                                       18 (sides) 


 


 


 


 


 


 


 


 


 


 


QWC2: Candidates will be expected to 


 present work clearly, with words explaining 


process or steps 


AND 


 make few if any mistakes in mathematical 


form, spelling, punctuation and grammar and 


include units in their final answer 


 


QWC1: Candidates will be expected to 


 present work clearly, with words explaining 


process or steps 


OR 


 make few if any mistakes in mathematical 


form, spelling, punctuation and grammar and 


include units in their final answer 
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Alternatives: 


Interior isosceles triangles at centre: 


(Angle at centre =) 180° – 2 x 80° (=20)            M1 


(No of isosceles triangles=)360°÷(180° – 160°) m1 


(No of sides =) 18                                                A1 


OR  


[(n-2) × 180°]/n = 160° or 180n – 360 = 160n  M1 


                         20n = 360                                  m1 


                              n=18          (sides)                   A1 
 
QWC2 Presents relevant material in a coherent and 


logical manner, using acceptable mathematical 


form, and with few if any errors in spelling, 


punctuation and grammar. 


 


QWC1 Presents relevant material in a coherent and 


logical manner but with some errors in use of 


mathematical form, spelling, punctuation or 


grammar  


OR 


evident weaknesses in organisation of material but 


using acceptable mathematical form, with few if 


any errors in spelling, punctuation and grammar. 


 


QWC0 Evident weaknesses in organisation of 


material, and errors in use of mathematical form, 


spelling, punctuation or grammar. 












Sticky Note

Correct answer.



Sticky Note

The candidate has not clearly labelled each stage of working, consequently QWC1 as the work lacks organisation or structure.












Sticky Note

An error in division.



Sticky Note

Insufficient care taken in showing what each calculation is leading to, e.g. why 360 divided by 20?



Sticky Note

QWC1 as the structure is unclear.
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8.	 You will be assessed on the quality of your written communication in this question.


	 Each interior angle of a regular polygon is 160°.
	 How many sides does this regular polygon have?	 [5]
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13.(a)  20( 20 + 1)/4  or 5 × 21 or equivalent 


                                                                     105 


(b) n(n+1)/4 = 33 


 


n(n+1) = 132  or other 1 stage of correct manipulation 


 


 (n = )11  or 11th term 


M1 


A1 


M1 


 


m1 


 


A1 


 


 


 


 


 


5 


Correct substitution. May be in stages 


 


OR any 1 correctly evaluated term (accept as a 


fraction) 


OR an improvement in evaluation of an 


appropriate term, beyond 6th term 


Accept a clearly indicated embedded answer  


(Terms: 0.5, 1.5, 3, 5, 7.5, 10.5, 14, 18, 22.5, 27.5) 


 


Alternative                     n(n+1)/4 = 33    M1 


 n2 + n -132 =0   or  (n -11)(n+12) = 0   m1 


                                                  n = 11     A1 ISW 


(ignore sight of n = -12 included) 
















Sticky Note

All correct working, with each stage shown



Sticky Note

A method of trial and improvement is used



Sticky Note

Starting with a trial of n =10, to small.
Then n = 12, to large.
Settling on n = 11, 
although there is a place value error in the division,
0.33 seen, but interpretation is correct,
therefore all 3 marks awarded












Sticky Note

Correctly evaluated.



Sticky Note

Many trials, with some lack of order.



Sticky Note

But the candidate found the correct answer in the end.



Sticky Note

n = 11 left as an embedded answer.
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13.	 The nth term of a sequence is               .


	 (a)	 Calculate the value of the 20th term of the sequence.	 [2]


	


	


	


	


	 (b)	 Which term in the sequence has a value of 33?	 [3]
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